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SECTION—A (40 Marks)

Attempt all questions

Question 1

Write a short composition in Sanskrit of 150-200 words on any one of the following

topics  :—

v/kksfyf[krs"kq fo"k;s"kq ,da fo"k;e~ vk/k`R; 150-200 'kCnifjfera ,da y?kqfucU/ka laLÑrHkk"k;k

fy[kr :—

(i) 'kjhjek|a [kyq /keZlk/kue~ bR;qDR;uqlkja vkjksX;L; egÙoa o.kZ;rA

(ii) jkf"Vª;ksRlos"kq x.kjkT;ksRloL; vkpj.ke~A

(iii) lewgek/;ekuka fo"k;ef/kÑR; fucU/kesda fy[krA

(iv) laLÑra KkuL; foKkuL; p vkdje~ vfLr bfr fo"k;s izcU/ka fy[krA

[15]

SANSKRIT
(Second Language)

(Three  hours)
Answers to this Paper must be written on the paper provided separately.

You will not be allowed to write during the first 15 minutes.
This time is to be spent in reading the question paper.

The time given at the head of this Paper is the time allowed for writing the answers.

This paper comprises of two Sections; Section A and Section B.
Attempt all the questions from Section A.

Attempt four questions from Section B, answering at least one question each from the
two books you have studied and any two other questions from

the same books you have compulsorily chosen.
The intended marks for questions or parts of questions are given in brackets [  ].



(v) (Picture composition) izLrqrfp=a vk/k`R; laLÑrHkk"k;k ,da y?kqfucU/ka fy[kr :—
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Question 2

Write a letter in Sanskrit on any one of the following topics :—

v/kksfyf[kr;ks% fo"k;;ks% ,da fo"k;a vk/k`R; laLÑrHkk"k;k i=a fy[kr :—

(i) vf/kdo`f"Vdkj.kr% Hkor%@HkoR;k% izns'ks jksxHkhfr% l×tkrkA rfUuokj.kkFkZe~ vkjksX;kf/kdkfj.ka izfr

i=a fy[krA

(ii) Hkor%@HkoR;k% tUefnuL; vkàkua ÑRok fe=a izfr i=a fy[krA
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Question 3

Read the passage given below and answer in Sanskrit the questions that follow, using
your own words as far as possible :—

v/kksfyf[kre~ vuqPNsna ifBRok rL;k/kksfyf[krkuka iz'ukukeqÙkjkf.k ;FkklaHkoa Lo'kCns"kq laLÑrHkk"k;k

ns;kfu :—

iqjk izdk'kohj% uke jktk /keZiqfj jkT;s 'kklua djksfr LeA /keZiqfj jkT;a ifjr% lkUnzkf.k vj.;kfu

vklu~A r= vusds oue`xk% olfUr LeA e`x;ka drqZa egkjktL; egrh vklfDrjklhr~A vr% iztk% vfi

izfrfnue~ vj.;a xRok oue`xku~ ekj;fUr LeA rsu oue`xk% loZs O;kdqyk% vklu~A

,dnk dÜpu egku~ O;k?kz% r}uekxr%A ,rsu Hkhrk% tuk% jkK% lehia xRok ^^izHkks l%

O;k?kz% ouxrkuka tukuke~ mifj vkØe.ka ÑR;k ekj;frA vr% Ñi;k O;k?kzkr~ vLeku~ j{krq** bfr

fuosfnroUr%A

ijs|q% e`x;kos"ks.k egkjkt% vj.;a xRok loZ= O;k?kzL; vUos"k.ka Ñroku~A ̂jk=kS tya ikrqe~ v;a O;k?kz%

unhe~ vkxPNR;soA rnk ra ekjf;";kfe* bfr fuf'pR; lehiLFka o`{kesde~ vk#á mikfo'kr~A fdf×pr~

le;kuUrja ,d% Hk;adj% O;k?kz% unhlehie~ vkxr%A ;nk jktk ra ekjf;rqe~ m|r% rnSo O;k?kz% vonr~ —

^^g s jktu~ ! fr"Brq] Hkoku~ fdeFk Z a ek a ekjf;rqe ~ m|r% vfLr \ e;k d% vijk/k%

Ñr% \** bfrA

egkjkt% vdFk;r~ — ^^gs O;k?kz ! Ro;k ee jkT;L; vusdk% iztk% ekfjrk%A ee iztktuk% RoÙk%

Hkhrk% lfUrA rs"kka j{k.ka ee dÙkZO;efLrA vr% rs"kka j{k.kkFkZe~ vga Roka ekjf;";kfe** bfrA egkjktL;

opua JqRok O;k?kz% gflRok vokspr~ — egkjkt ! ;a /keZa Hkoku~ iky;éfLr reso /keZe~ vgefi iky;éfLeA

vge~ vL; ouL; vf/ki%A oue`xk% ee iztk% lfUrA rs"kka j{k.ka ee /keZ%** bfrA

O;k?kzL; opua JqRok yfTtr% jktk v×tfya c)ok — ^^gs O;k?kzegksn; ! Roa ee vKkua nwjhÑR;

Kkuksn;a dkfjroku~A br%ija ouL; oue`xk.kka p j{k.kefi vga dfj";kfe** bfr opua nRok ^^Ñi;k eka

{keL;** bfr mDroku~A

(i) dqr% oue`xk% O;kdqyk% vHkou~ \

(ii) iztk% egkjktL; lehia xRok fda fuosfnroUr% \

(iii) O;k?kz% gflRok jktkua fde~ vokspr~ \

(iv) jktk fda fofpUR; o`{kek#á mikfo'kr~ \

(v) egkjkt% O;k?kzk; fda opua nÙkoku~ \

[2]

[2]

[2]

[2]

[2]
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Question 4

Answer the following questions according to the instructions given :—

v/kksfyf[krku~ iz'uku~ ;FkkfunsZ'ke~ mÙkjr %—

(i) okP;ifjorZua dq#r %—

¼v½ rsu egkdkO;a iBîrsA

¼vk½ ckfydk /kkofrA

(ii) izÑfr&izR;;foHktua ÑRok fy[kr :—

¼v½ usrqe~

¼vk½ oUneku

(iii) lfU/k&foPNsna dq#r :—

¼v½ egf"kZ%

¼vk½ vfXutkZ;rs

(iv) dsoya leklfoxzga dq#r :—

¼v½ lhrkjkekS

¼vk½ vuqfpre~A

(v) la;ksT; fy[kr :—

¼v½ nzqinL; viR;a L=h ---------------A

¼vk½ vfLr nso% bfr efr% ;L; l% --------------------A

(vi) vuqukfld o.kkZu~ fy[krA

(vii) y`V~ ydkjs ifjorZua dq#r :—

¼v½ Nk=% fo|ky;a xPNfrA

¼vk½ xq#% vKkua ifjgjfrA

(viii) okD;nks"kku~ ifjgjr :—

¼v½ LofLr iztkuke~

¼vk½ vkjk/;k vkfnR;L; lg ØhMfrA

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]
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SECTION—B (40 Marks)

Questions from only two of the following textbooks are to be answered.
Attempt four questions from this Section.

You must answer at least one question from each of the two books, you have studied
and any two other questions from the same books that you have chosen.

laLÑrok.kh—Hkkx&4
egkdfo% dkfynkl%

Question 5

Read the extract given below and answer in Sanskrit the questions that follow :—
v/kksfyf[kre~ vorj.ka ifBRok rL;k/kksfyf[krkuka iz'ukuke~ mÙkjkf.k laLÑrHkk"k;k ns;kfu :—

;|fi dkfynkl% iz[;kr% rFkkfi rL; ns'kdkyknhuka fo"k;s fdf×pnfi u Kk;rsA bna vLekda
nkSHkkZX;e~A dkfynkl% vLekda dfo% bfr Hkkjrns'kL; loZs"kka tuinkuka tuk% onfUrA l% Hkkjrns'ks
loZ= l×pkja ÑRok mTtf;U;ka nh?kZdkye~ volr~ bfr Ågk vfLrA

(i) dkfynkl% fdfefr xkSjoa izkIroku~ \ fdfefr izfl)% pA

(ii) dkfynkl% dL; u`iL; vkLFkkus vklhr~ \ rsu lg fLFkrkuke~ brj ekSfDrdkuka ukekfu dkfu \

(iii) iqjk dohuka x.kukizlaxs

dfuf"Bdkf/kf"Br&dkfynkl%A

v|kfi rÙkqY;dosjHkkokr~

vukfedk lkFkZorh cHkwoAA

vL; 'yksdL; rkRi;Za fy[krA

(iv) dkfynklL; Ñfr"kq ds ds va'kk% HkofUr \

Nk=f'k{k.ke~
Question 6

Read the extract given below and answer in Sanskrit the questions that follow :—
v/kksfyf[kre~ vorj.ka ifBRok rL;k/kksfyf[krkuka iz'ukukeqÙkjkf.k laLÑrHkk"k;k ns;kfu :—

vkRela;ejfgra f'k{k.ka f'k{k.ka u HkofrA ;k fo|k ekuoa n;kyqa ijksidkfj.ka djksfr lk ,o
lf}|kA f'k{k.kL; eq[;ksn~ns';a LokFkZfgrfpUrdL; ladqfpr&euksHkko;qrL; ekuodqyL; fuekZ.ka ukfLrA
;% euq";% lE;d~ f'k{k.ka x`ghroku~ rfLeu~ Lor% izofrZra lkuqdEia] loZsH;% tusH;% vo/kkua izogfr
vfojks/ksuA

(i) fda ;FkkFkZf'k{k.kfefr lTtukuke~ vfHkizk;% \

(ii) f'k{k.kL; y{k.ka fde~ \ lE;d~ f'k{k.ka Nk=s"kq fda tu;fr \

(iii) Nk=k.kka nSufUnd&thous ds ds xq.kk% o/kZuh;k% \ f'k{k.kL; xq#rja dk;± p fde~ \

(iv) v/kquk dL;k% vko';drk vfLrA rnFkZa dS % iz;Ru% dj.kh;% \

[2]

[3]
[3]

[2]

[2]

[3]

[3]



ve r/kkjk

Question 7

Read the extract given below and answer in Sanskrit the questions that follow :—

v/kksfyf[kra vorj.ka ifBRok rL;k/kksfyf[krkuka iz'ukukeqÙkjkf.k laLÑrHkk"k;k ns;kfu :—

laLÑrlkfgR;s lqHkkf"krkuka oSf'k"Vîiw.kZa LFkkua fo|rsA jkek;.k&egkHkkjr&iqjk.k&dkO;kfn"kq vU;s"kq

xzUFks"kq p r=&r= lqHkkf"krkfu dfofHk% fofuosf'krkfuA bZn`'k&lqHkkf"krkuka i`Fkd~ laxzgks·fi rS% Ñr%A

(i) uj% LoL; pfjra dFke~ vos{ksr \

(ii) O;kf/krL;kFkZghuL; ns'kkUrjxrL; pA

ujL; 'kksdnX/kL; lqâí'kZuekS"k/ke~AA

vL; 'yksdL; rkRi;Za fy[krA

(iii) dqyhu% 'khyxq.kku~ u R;tfr bfr lqHkkf"krs dFka fu:fire~ \

(iv) okXHkw"k.keso Hkw"k.kfefr Üyksds dFka fu:fire~ vfLr \

laLÑrok.kh—Hkkx&5
izkFkZuk

Question  8

Read the extract given below and answer in Sanskrit the questions that follow :—

v/kksfyf[kra vorj.ka ifBRok rL;k/kksfyf[krkuka iz'ukuke~ mÙkjkf.k laLÑrHkk"k;k ns;kfu :—

v×tukuUnua ohja tkudh 'kksduk'kue~A

dih'ke~ v{kgUrkja oUns y³~dkHk;³~dje~AA

vuUruke/ks;k; lokZdkjfo/kkf;usA

leLreU=okP;k;] fo'oSdir;s ue%AA

(i) oØrq.M% dhn`'k% vfLr \ l% fda djksfr \

(ii) ekrkfirk xq#% pSo LoHkkokr~ f=r;a fgre~A

x ghRok opua rs"kka] lq[kh Hkofr ekuo%AA

vL; 'yksdL; rkRi;Za fy[krA

(iii) bna loZa dsu O;kIrefLr \ ek x`/k% dL;fLor~ /kua dqr% \

(iv) ,d% ,o nso% l% loZs"kka lk{kh Hkofr \ foo`.kqrA
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[2]

[2]

[3]

[3]

[2]

[2]

[3]

[3]



ijksidkjkFkZfena 'kjhje~

Question  9

Read the extract given below and answer in Sanskrit the questions that follow :—

v/kksfyf[kra vorj.ka ifBRok rL;k/kksfyf[krkuka iz'ukukeqÙkjkf.k laLÑrHkk"k;k ns;kfu :—

iqjk tula[;k U;wuk vklhr~A oukuka la[;k vf/kdk vklhr~A rs"kq ous"kq vusds Øwjk% e`xk% olfUr LeA

,dfLeu~ ous ,d% yqC/kd% vklhr~A l% e`xku~ x`ghRok rs"kka ekala pekZfnda foØh; /kuktZua dqoZu~ vklhr~A

(i) ijksidkfj.kka LoHkkoa mnkgj.klfgra foo`.kqrA

(ii) yqC/kd% fdeFkZa o`{ke~ vk#á mikfo'kr~ \

(iii) ifjJkUra yqC/kda n`"V~ok o`d% fde~ vonr~ \

(iv) O;k/kL; izrh{kk;ka fLFkr% 'kknwZy% o`da izfr fde~ vonr~ \

ve rokfguh

Question  10

Read the extract given below and answer in Sanskrit the questions that follow :—

v/kksfyf[kra vorj.ka ifBRok rL;k/kksfyf[krkuka iz'ukukeqÙkjkf.k laLÑrHkk"k;k ns;kfu :—

lqHkkf"kra uke lq"BqHkkf"kre~A laLÑrok³~e;L; lqHkkf"krkfu lqizfl)kfu lfUrA

(i) d% lk{kkRi'kq% \ i'kwuka Hkkx/ks;a fde~ \

(ii) dhn`'kha fo|ka dhn`'ka /kua p vuqi;qDre~ bfr ifjx.k;fUr \

(iii) ^^lUrks"k% ,o iq#"kL; ija fu/kkue~** Üyksdkuqlkja foo`.kqrA

(iv) eufl opfl dk;s iq.;ih;w"kiw.kkZ%

f=HkqoueqidkjJsf.kfHk% izh.k;Ur%

ijxq.kijek.kwu~ ioZrhÑR;fuR;a

futâfn fodlUr% lfUr lUr% fd;Ur%AA HkkokFk± fy[krA
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[2]

[2]

[3]
[3]

[2]

[2]

[3]

[3]


